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The master sent the stick

To hit the dog:
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The master sent the fire

To burn the stick:

∑
U

/

34
>

Œ
¿ ¿ ¿ ¿ ¿ ¿ ¿

j

‰ ¿ ¿ ¿ ¿ ¿ ¿

¿
Œ

Œ
¿ ¿ ¿ ¿ ¿ ¿ ¿

j

‰ ¿ ¿ ¿ ¿ ¿ ¿

¿

j

‰ ¿ ¿ ¿ ¿ ¿ ¿ ¿
Œ

Œ
¿ ¿ ¿ ¿ ¿ ¿ ¿

j

‰ ¿ ¿

Narrator2



dog, the stick would not, Bite the boy,the dog would not, Shake the tree, the boy would

278

not,

q=112

283

Allegro q = 132

300

Douse the fire,the water would not, Burn the stick, the fire would not, Hit the

q=96

341

dog, the stick would not, Bite the boy,the dog would not, Shake the tree, the boy would

346

not,

q=112

351

Adagio q. = 48

368

3

4

2

4

2

4

6

8

2

4

/

> >

/

>

The pear refused to fall.

U 16

/

The master sent the water

To douse the fire:

∑
U

40

/

> >

/

> >

/

>

The pear refused to fall.

U 16

/

The master sent the calf

To lap the water:
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The master sent the butcher
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And the pear agreed to fall.
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